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A charged particle has a mass of 2.0 x10 *
electric field.

(a) Calculate the charge of the particle.
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(b) Is the charge positive or negative? Iixplain why?
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Consider the charges configuration shown in the figure. Q1 =20 mC and Q2 =-.0 mC. The
—,

distance a = 5 cm. Calculate the net electric field at point P.
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An electric dipole consists of charges +2¢ and —2¢ separated by 0.78 x10 ° m. It is in an electric
field of strength 3.0 x10° N/C.
(a) How much work is needed to rotate the dipole from perpendicular to the electric field to
antiparallel to the electric field direction?
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(b) Who does the work, the electric field or external agent? Why?
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